Multiplicar Dos Polinomios (E)
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Simplifique cada expresion.

2K (9Kt + k)

B A+ 5F%)(=2f —6)

- (3a® + 9a®)(7a® + 9a + 9)

(29 4+ 99 + 39)(49° — 3¢")

=80 (4t + T — 8v?)

MatesLibres.com




Multiplicar Dos Polinomios (F) Respuestas
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Simplifique cada expresion.

C2K° (—9k* 4 TKY)
= —18k" + 14k°

B4+ 57 (=2f —6)
= —6f° —26f* — 3413 — 302

- (3a” + 9a*)(7a* + 9a + 9)
= 21a” + 90a® 4+ 108a° + 81a*

- (29° +99° + 39)(49° — 3¢")
= 8¢% + 309" — 15¢° — 9¢°

. —81}2(41).4 + v — 8v?)
= —320°% — 560° + 640*
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